Algebraic Expressions

1.Givenx = 0,y = —1,z = 3. Find
a.3xyz — 2y
b.yz? — 3x

c. 3xyz? — 3y?

5xz-2y?
4. 2=y

2yz

7x+8y+2z
' 3z—2y—4x

f.(xy +x)(z—x)—(2z-3)

2.Givenx =4,y = -2,z = 3, find value of L = 2z + 15(x + y) +

(x=y)?
4z

3. The equation in finding perimeter of a rectangle is P = 2(a + b) . A and B represent

height and width of the rectangle. Find the perimeter of the rectangle if given

a.a=3cmb =4cm
b.a =1.2cm,b = 0.9cm

1 1
c.a= 45cm,b = SZcm

4. Calculate

I. (10m—-9n)+ (—8m —n)
II. (7a—2b) —(—3a—7b)
. 9y —2z)— By —4z)
IV. 5x+4(5x +3)
V. 4u-3Qu—->5v)
VI. 3a-—2(5a-3b)—2a
VII. 4(x—1)+5Q2x+3)
VIL.  —3(24—k) + 4(k — 3%)
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IX.

XI.
XIIL

XIII.
XIV.
XV.

—4(a —3b) — 5(a — 3b)
3(p—2q) —4(2p —3q — 5)
2(4b-3)+3(b-1)
3(2b — 4a) — 2(3b — 7a)
t—1 t+1
_+_

3 2
p—2 ptl

3 4



Algebraic Expression

5. Solve the equations

L t-8=3 XIX. %x—%xzx—9
. m—31=313m=2 XX, _%x_6=§+2
M. x+17=9 I
IV. 5x—7=4dx XX S-3-7=1
2m-—3 3m-2
V. 7x—16=6x+2 XXIL. "; = "’5
VI 10x+18=9x+9 x| 3EHL 26
VI. 2x+1=3x-5 5 3
3(n-1) _ n
VIL 2x=10 — XXIV.  6———=1
IX. 6x =54 XXV. %(Zx ~D+ i(3x ~1)=3
X 8t=-56 XXVI, xS _xtt g6
X mx=8 XXVII 63 = 24 ( ; 4)
XII. —9a = —45 . x = 2x — (x
- =8 XXVIL  2(3x —4) + 7(4 — x) = 4x
' Wx =5 XXIX. f-Z=
Xiv. —-Y—5 _
L6 XXX. x—143x=8
Xv. X=_7
n XXXI. f—z(l+lx)zix_z
XVI. —+6=m 3 5 3 5 3
S XXX 2RI rh
XVIL 1+Z2=z+6 2 3 s
XVIL X-%2_-4
3 7
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